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Solución figura 1:  

O2003; 

G00 X200. Y200. Z10.; 

G00 X0. Y0.; 

(POLIGONO CONTORNO); 

#100=[360./6]; 

#101=90.; 

#102=[110./2]; 

WHILE [#101 LE 450.] DO 1; 

G01 X[#102*COS[#101]] Y[#102*SIN[#101]]; 

Z0.; 

#101=[#101+#100]; 

END 1; 

G01 Z10.; 

G00 X0. Y0.; 

(POLIGONO CENTRAL) 

#103=[360./6]; 

#104=0.; 

#105=[40./2]; 

WHILE [#104 LE 360.] DO 1; 

G01 X[#105*COS[#104]] Y[#105*SIN[#104]]; 

Z0.; 

#104=[#104+#103]; 

END 1; 

G01 Z10.; 

G00 X0. Y0.; 

(CIRCUNFERENCIAS) 

#106=[360./6]; 

#107=90.; 

WHILE [#107 LE 450.] DO 1; 

G01 X[35.*COS[#107]] Y[35.*SIN[#107]]; 

G91 X7.5; 

G90 Z0.; 

G03 I-7.5; 

G01 Z10.; 

#107=[#107+#106]; 

END 1; 

G00 X200. Y200. Z10.; 

M30; 


